Expanding Harder Brackets

Expand and simplify:
@) 2x +y)(x — y)
(b) (x —3y)(2x — y)
(c) (4a + 3b)(2a + b)
(d) (2x — y)(x + 5y)
(e) (3b + 2¢)?

(a)zac —oc

(b) Ase =7 \\33 \lj
(c.) o>+ 100k ¥ 36—
(@) ek -By*

(&) A2+ 1o +4C ™=

Expand and simplify:

(@) k+y)x+y+1)

(b) (2a+ b +3c)(a—b)
(€) 5x = y)(5 - 2x +y)
(d) (@ —2b—c)(2b + 3¢)

Expand and simplify:

(@) xy(x +y)(x +2y)
(b) ax(x + a)(x — b)

(c) 2ab(2a — b)(2b — a)
(d) xy(3x + 2y)*

Expand and simplify:

(a) (x +y)(x + 2y)(x + 3y)
(b) (a+b)(b+c)(c+a)
(©) 2x+y)(x =3y)(y —x)
(d) (a —b)(3a + 2b)?

(e) (a — 2b)?(5a + b)

(F) (x +2y)°

(9) (a —4b)°

(@) a8 =\ 200y + O+
(b) 20 \\isb ——o@—rSoc——Sbc

(CB 253(_.. \2 \Oo: 5
(d) 2o\o+50c S =3

) oc3y +3oC o+ 2267
() o§+a‘aa Podssee d oo
(=) e ot le erieS ~4alo>

() %CQT D_:x:t\ +40C\Lj

(o) @+ 6 +\’\oct3 +64°

(1) 20k 4 Fora’c +ds™ +o™
4+ oc*+ B e
(o) Tty -2 2_Jp> _SQS

()G 3D -Falo™ -4
(&) BR- A + lods™ + 4>

3
(F) o+ 6y + 120+ ]y
(q) a>- uq“é: +4% ob"—-éaq‘b\%




